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Pre-Calculus 11 — FINAL EXAM Review — Booklet 2

Chapters 5 and 6

*** Do this work on your own lined paper AND graph paper ***

Chapter 5 — Radicals

36. What does the expression 7.J7-6f12 - (428 + 4@} simplify to?
37. Express A 6an'%% in simplified form.
38. The volume, V, in cubic units, of a cylinder is given by ¥ = m»2k where r is the radius and h is
the height, both in the same units. Find the exact radius of a cylinder with a height of 64 cm and
a volume of 576w cm®. Express your answer in simplest form.
39. Express —7~/6(=6./5 - 2.J6) in simplest form.
40. Find a simplified expression for the area of this shape.
Not to scale.
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347 — 442
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37 + 442
41. Express 221 - 347 + 43 -8 in simplest form
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42. Solve ~fdx-5=1

43. Solve ~fx+73 = +J2x+ 8.

44. What are the restrictions on x if the solution to the equation —4 — ~/4 — x = & involves real numbers?
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Chapter 6 — Rational Expressions and Equations

?
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What are the non-permissible value(s) for the rational expressions

S(4x® -y
What is 2( ) = in simplest form? State any non-permissible values.
2x° = laxy— &y

—3x+12,7
32—-8x

What is the simplified version of the rational expression

L . fix? B
When fully simplified, ignoring non-permissible values, 3—; X % is equal to

TP . . 12x12 %8
When fully simplified, ignoring non-permissible values

el Y is equal to

6ath? (atbT)’
el (3abt)’

Simplify the rational expression

3

Simplify the rational expression

x2 + fx x+3
T3¢ I simplest form.

Express the product 7—3——=———= *

c th tient xd—Sx—24 . 2x 4 Tx 43
Xpress the quotien 2 x+24 " x2ix—12

in simplest form.

NI . fxy—8 —3-"xy
Fully Simplify this expression: 57 Ty

x+ 3 N X+ 5
0% +20 0 A2+ Tx+12

Fully Simplify this expression:

__4-x N fi
X+l GE_ge_a x—4-

Solve the rational equation:

o Express your answer with positive exponents only.



